BB ILABAFT 108 FEEE—SHME K

—EER WS BE3IY)

( ). FyIMTHIERE?
A1TREH OBEH—ZHH OC2REH
D)E#—E A E#
()2 TFTIFMTHEER?
(A)O £ 17 9 H # (B) 0 & 17 th45 %
OB EByEHE (D) 13 & 13 9453
()3 THH—BIIEEELEIHEH?
(A)0 B)1 (©)2 (D)3
( ) BZASToMBab EYa-~bHAEEE AT
A — AR TR at+b &yE ?
(A)14 (B)18 (C)44 (D)46
()5 SEMET+ (—3)+(-3455)) =2
3 3 2 2
(A) 3 B) 5 ©) ~3 D) 5
(6. TFMTHE?
(A)3x2°=6>  (B)3Px3?=3° (C)3%’=6
(D) 3*+2°=5°
(7. FiMTHA 1 948 ?
(A)33333 (B)216150 (C) 182918 (D) 123011
()8 —3TwEHTE L ?
@) —73 ®37 © 2 o -1
37 37
()9 #4=3 7" AITFBAF AT THR
Ay EE 7
(A)3'x11  (B) 557 (C) 3°x5*x7 (D) 3°x5*x7>
( )I0. FRHR—BRFYRHLE ?
(A)14~35 (B)16~21 (C)22-33 (D)42 -~ 51
()11 %P w M W ZHEER S D MEyE?
A1 B2 (©)3 OERS @E-
()12 FAm— i g% ?
6 -9 18 —4
bﬁw cwvum AQIMM qu
(3. 4325 WA T AT ARTHEERY
WAHH2TT) B
@Iwwxs& @wlwimxm
¢ )4 “mrmfmk.mmnm»s.AmNmW+|W+W+$+Im.+$
VR g
A1 ®2 ©3 (D4
( IS, Sr—E=fr® F REFTUH 121630 E ={A#

g AP FERYIEAEZLS D ?
(A)240 (B)480 (C)720 (D) 960

BEBEHRE—F_ 3 RHL

ZBAB W5y BE3Y)
1.8640 ST IR A > KB TR LS4 558 8]
Py F o

(M 5eysEs - [O= °

QBRA 2 69488 > XL SwEH  [= .

(3) 9ty - = °

@1 e O= °
2.16500 8442 & 458 X, B 2°<3xc*x11 » B] a—c= o
3T S &M B EFURESBX AT

(1) (23x52x7 ~ 22x5%x11) = .

(2) [2°x3x11% ~ 2x37x5%x13] = .
AFAOPHEANA>S ~ <FH=":

3 2 99 100
M =< L —3 @ —5 U ~ o1

9 - 9 s 7 6 ZAN
@XZVDAZV Q_:AV_H_AAV
SAETHEXMoF > EAEEG

(1) 3°x7°=1°> (= .

(2) 6%6°=6" > []= .
AU=31'=(=9"- 0= :
g (— Lo b oes 1 09
m.»aAmv @va nﬁwv
FEHa-bcZHARIHELE o

=~ JREHEE(1045)

LB ~ AR ALERE N8 T4 - R EPEE 6 R4AME—
R A EHER 8 RIB— R o ZEM - NI 5 KB ABIFE
HAEZIM MBI TRAARFELM=HBRRELER
%736 %)

2.hafH AT E BRI — B EE B A
B E R REE Beh o B wBY ek 0 AT
BT B ER - A EEL 2618 B NG A B RLA
%8736 %)

30 AR AR R S a5 R H B SR A
W THE e DEHaRBEIBRXET -2 5H)
QFH cAREFBRIXET -2 %)

2la

ok
+
o3
(’uﬁ
W




BABIAGET 108 2EEE | 3P —RA&H - FABBHRLS A
EF S N 'S

KFBRERANERSE

—BEE (B840 £409)
1 2 3 4 5 6 7 8 9 10

C D D B A B | A C C B

—HRA (B4 2405 BARBEYETLY )

1 (1) | 1(2) 1(3) 200) 20
65 BT+ | 2-93-45 36 11%9
3 4 (1) 4 (2) 4 (3) 4 (4)
15 (x—4)5x-1) (x+2)(Sax — 4b) 8(2x —1)(x 1) S(—2)

S E (B1E4H B2A5MISH £ 45 FRETIRBEAEHELS o)

1. 2.

(1) 4@2x-3)fx-1)  (#54)

AG=5V3 cm (%4 %)

(2) (9x-14) (£54%)

WA (FE3 45 £64)

1 2

27 11




